ECE 473 - Embedded Systems 
Chapter 5 Homework

Solutions
Problem 5.1

c) in that case lower priority advice will not get to run and higher priority advice will run most of the time. So starvation may occur.

d) starving happens where a low priority thread is never given access to a resource and gets stuck in the "blocked" queue.

e) one solution could be that increment the priority of a task waiting for a resource after every cycle when it does not get a hold of it, this is called aging.

Other- possible solution is to limit each task to a single resource at a time.

Problem 5.4
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1) supplemental #1
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so 32 ms used and 28 ms left for "main"

after 3 cycles = 84 ms

Total time is then 218ms

2) supplemental #2
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So each task gets 8ms in a 50 ms time cycle. So after 11 time cycles T2 completes 8x11=88ms. because 50 ms completed for 1turn of each task and total of 11 cycles 11x50=550. time left for T2 is 2ms. But need CS=2ms so final time is 550+2+2=554 ms.
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